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QUESTION 1

The VI begins execution with the value of Numeric as 5, at the end of the 4th loop iteration (i=3), the user 

changes the front panel control Numeric to value 2. 

What value will be displayed in the front panel Numeric indicator after the VI completes execution? 

A. 3 

B. 10 

C. 5 

D. 6 

Correct Answer: C 

 

 

QUESTION 2

Which of the following allows you to plot any set of points, evenly distributed or not? 

A. Waveform Graph 

B. Waveform Chart 

C. XY Graph 

D. Both A. and C. 
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Correct Answer: C 

 

QUESTION 3

The Current Time indicator should update every second, starting when the user clicks the Start Timing button and
stopping when the user clicks the Stop Timing button. What values must be entered in the Start Timeout and Stop
Timeout constants in the Start Timing and the Stop Timing event structure cases? 
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A. Start Timeout = 1, Stop Timeout = -1 
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B. Start Timeout = 1, Stop Timeout = 0 

C. Start Timeout = 1000, Stop Timeout = -1 

D. Start Timeout = 1000, Stop Timeout = 0 

Correct Answer: C 

 

QUESTION 4

Which of the following statements is NOT valid? 

A. You can make a Cluster of Clusters. 

B. You can make an Array of Arrays. 

C. You can make a Cluster of Arrays. 

D. You can make an Array of Clusters. 

Correct Answer: B 

 

QUESTION 5

Which timing function (VI) is the best choice for timing control logic in applications that run for extended periods of
time? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 
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Correct Answer: C 
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